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oS 183} 28 0ABCD 9|4 AB = BC,
/A = /C o]t} AB = 5cm, AD = 8cm € T, dABCD 9] &9
Hol=?

® 18¢cm @ 20em @ 22cm @ 24cm (B®)26 cm

AABC = o|5HAHZF o1 /A = ,C o]lBR
/DAC = /DCA, CD = AD = 8cm
- (B9 o)) = (5+8) x 2 = 26(cm)
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7A90] 4 5% 4x 3 = 60(7}A]) ol




RE Q9] L 6x6=36(7FA])
E9] 271 27} H= AL 1 (1, 3), (2, 4), (3, 5), (4, 6), (5, 3),
(6, 4), (4, 2), (3, 1)
F=o] 27t 30] HE= AS 1 (1, 4), (2, 5), (3, 6), (6, 3), (5, 2),
(4, 1)
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7. oS 199 AABCOA, AB = BC, AP = CP& g o, x +y 2]
3717

A 25°

C
25°

O 125° @ 135° @ 145° @155° ® 165°

B ‘
2 s}

oSl A BA o] o SHAL WS SH o] SRS
A==
y=90°

T AABP oA WHZte] ek 180°0|B 2
x=180°—(90° +25°) = 65°
 x+y=065°+90°=155°




che-2 2741719 ABC o14 AB $19] /B — /BCD 7} HE% A D
£ %ow AD = BD = CD 9€ Z%ate Baolth. (7h~(ah o]
Sojzr g0z gmre e
A
D
B DNy

ofh

/B = °|HE ABCD & °| 5ol

et BD =| (4 | oI+

A2+ ABC oA ZA+ /B+90° = 180° O] B2 /A = 90°- /B
oJtt.

/ACD + = /ACB °| A LACB 7} 90° o] B2

/ACD = 90° —| (2}) | o]t}

9y /B = o2& /A = /ACD O|t}.

THebA AACD = ol 5 HAZ el B=2 AD = CD ©|th.

.. BD =CD = AD ©°|th.

@ (7}) :.ADC @ (W) : BC ® (t}) : /BDC
@(ﬂ') : «\BCD ® () : £ABC

B ~

/B = /BCD ©]|E2 ABCD ¥ o|Swi4ztgolrt. wahA
BD = CD o]t}

A7 ABC oA ZA + /B +90° = 180° ©| 22 /A = 90° - /B
o|tt.

/ACD + /BCD = /ACB ©{A] £ACB 7} 90° ©]| 2% /ACD =
90° - /BCD o]t}

194 /B = /BCD °|E& /A = /ACD o]t}

w24 AACD & ol 5RAZIgo|E 2 AD = CD ©|t}.

-.BD = CD = AD ©]|t}.
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500 972 x7H, 100 972 y 7, 50 @R W E ARESHe] =&
AET S UEEAAR (x, v, 20 EAH %, 5y, z EF 1 EE
29 7kS ZtE = Sl Hr} x, y, z= RF 2704 leBng
2% 2x2=8(7HA]) o|t}.
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th2 1o A LAOB 9 o] 5824 OC 919 A P 2HE H OA, OB
o el 49 ¥he 717 Q , R o2t & of, th2 5 24 &2 727

A
Q
p_C
0« R B
@ /POQ = /POR @ /0QP = /ORP
® aPOQ = APOR @ PQ=PR

)oq - or - 0P

B ~
HQ ¢ AR 2 4 e Hid A °]E& /0QP = /ORP =
90°

APOQ €} APOR 9|4

i)OP £ &%

i) /PQO = /PRO = 90°

iii) £QOP = /ROP
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13. FA91 T AE 99 1 g A F ok 99 71 vhel
Y} b2 ShE?

® 859 ol et
@ 49] 59| o] et

® 449 feol etk

@)69) oF4-0] o] Lheet,

® 28eh 23 61k 2 ko] Lhrt,

D (1, 3, 5) .. 374
@ (1, 2, 4) . 3714
® (2, 3, 5) .. 3714
@ (1, 2, 3, 6) .. 47F4]
® (3, 4, 5) . 37FA




14. FA91 205 SAC] AAN Je 20 5 A7k a, bt T o, S x

7 AA47} e B9 S

@ 5714 @ 6714 3)77HA
@ 8714 ® 9717

ab = 12,24,36©| E oo} 522
(2,6), (3,4), (4,3), (6,2), (4,6), (6,4), (6,6)
T 7HA




15.

AABC o] A T= WAL ™, 2x+ 29 2 A
717

T 2"
B Z2Aq

@ 190° @ 191° ® 192° @ 194° @198°

B ~

AABC YA /IAB = /IAC = q,

/ABI = /CBI = bz} 514}

2/a+2/b+72°=180°

o la+ /b =54°

(x+ 2y = (La+T72°) + (Lb+T72°) = La+ /b + 144° = 198°




